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A7 11+I=5@ﬁmmﬁﬁﬁfﬁﬁ?$ﬂw7§ﬁl

When n+/=5, then what is the total number of subshell?
AL Y 3ad frm s sy R g |
What is the basis of morden periodic rule.
3 AR sy fagr faam i
Who gave valance Bond theory.
_47 Tt 2 i@ T wirE Seae w0 aren 6 & fatag

Write the name of any two gases which created green house effect.

/ ﬁﬁrf%fﬁaﬂﬁq‘mwmqmﬁw

Calculate the molecular weight of the following compound-
1C,H, 0, ~TH,SO,

mﬂﬁq@mmﬁmwwwﬁm%*
What is the effect on molarity the increase in temperature?

A Wu@aﬁ%hﬂawﬁwmmyw I fave 9 stfuss
g € T SR g |

The second ionic potential of Alkall metal more than the first ionic poO-
tential. Write one reason only.

e urefram =t ger 7 Wfean ww Hrarsiiel & 1w i)
Sodiun is less reactive then Potesium. Give reason.
9. I fova 7o B | S @ & A fava 3 b
What 1s cell potential. Calculate the cell potential of Denial cell.
10. frefafaa Faenl ® a9t =] Fa=y e fafaa-

Write ali four quantum number of following :
(1) 4s° (i) 5d°

PT.O. wux



(2)
1. Fr=fafaa w1 fooot faf@u! Write short note on following )-
(i) I8 @13 (Surface tension) (i) @A ( Audipility )
12. TGS 1 S fave sitafior @ sifves 2l % o v Fifg

Tonic potential of nitrogen iz more than oxygen. Explain reason.

13. (i) pH = 99F8T Explain pH scale. __

(ii) Calculate the pH value of % H,0, faera= o1 =1 79 719 Hifeg
14. W % freferfan degu 3 =pie wea 51 fafim Fifm-
Draw following new man projection of ethane-
(37) TR weor (Staggered conformation)
(®) 7fed =799 (Ecliped Conformation )
15. 30 92l YT g § i <) o ffiam |
Write any (wo difference between Ortho and para Hydrogen.
16. (i) CO, 9 & wef% Si0, 3 ¥ | www w1= Fif |
CO, is gas while the Si0, is solid? Give reason.
(ii) T = &2 What is Zeolite.
17. AH Q91 AE & A% g9y 1 sifom |
Deter mine the relation between AH and AE. .~
18. ST AW 1 7 AT WA Y T THER wwifed w €
~What is acid rain. How it affects the enviroment_
19. N, +3H, — 2NH, 3iaf ara, am 9 <@ g0 fvg wer warfe
BT |

N, + 3H, - 2NH, How the rzaction will be affected by
iemparturs and pressure at equillibrium. ~
20. G WohH 51 & Frew Sesivest wfiae I wif
What is spontenious process. Calcualte the Gibbus-Helmholta e
21. Frraferfan At # ke wemmo ¥ dwcoraen AFfa =

Write the hyberidization of Central atom and structure o

pounds #~ (1) PCIL,

|uation, -

[ following com-
: (11) 5F, (iii) CH,
22. (i) WA @Y fraves & favmie iy Frave § s fafige |
Write the difie;cnce betwecn nomolytic clevage and Heterolytic clevage. ~
(ii ) e 30 3 faot 1 wnfae o w5 fafa
What is eerbocation. Write the siability order of following :
(CH), C ICHs-}z C'H C[‘I_iC‘H: C’Hi P
23, Eruyaft fafare (Wiite shert note ) -

(i) T 7158 (Saitze(fs Rule)



24.

25.

26.

27.

28.

(3)
(ii) "reRtTRI® fam ( MarkonicofT rule ) _
(iii) T 99 (Inductive Effect) -
CH, +Cl, »CH, CI + HC! go o whaenat fshan fafy =t s

HifeTa | Explain fiee radical substitution machanisum of following
CH, +Cl, »CH, C/ + HCI —

(i) AICI, %1 =17 FewdsTt i § wrafer AIF, STraf e gl € 412
Molecule of AICI, is covalent while AlF, is lonic.

(ii) 3r== T749 = ufonfya =it qur 391 9 fafa
Define the octat rule and write its limitations. —

(iii) sHfoeare ford =ed B 1 H, 319 R 1 Bfan o e fafa =l
What is overlapping. Explain only by diagram of the touc... of
H, molecule. -

(i) wOifesmar =t smavas wd FME |

(i) Frferiaa 4 9 tafos qur mmﬁmmﬁaﬁaﬁqﬁﬁm .

(1) What is essential criteria of Aromaticity.
(i1) Classify the Aromatic and non aromatic compound in fol-
lowing - ~

CRPaNC @ @ Ty @ O
(i) en-snfafers =51 9 T | Write the Le-chatelier’s rule. —~
(ii ) 99 faeraa | = a9 © | 3qat Sf faeiand fafaa)
(it) What does mean by buffer solution/write its two properties.
(iii ) T3Y T STEURVT & STTHR 3 TUT &7 T TIL HIfoy |
(iii) Explain acid and base according to lewis’s hypothesis. =¥
(i) f=1 % 1UPAC =w fafEu-
Write the [UPAC name of following :
(A) CH,=CH - (I:H -CH,-CH,-C=CH

CH, |
(B)CH, - CH - CH, - CH, 1(!: CH,

Ci CH,

(ii ) f=1 R feout faf@e (Write short note on ) -
(A) atfeggTwa (Hyperconjugation) «~
(B) e gaa Hersk (Carbon Free radical) =~

,-—"



(iii) 61 Aifrnt & ifvvss Tt drmener arfurfshan = St © | ST |
In which compound nucleophlic addition reaction is occur-explain?

29. (i) wgHarTs 99 % fqu MOT &Y o1 HifTu|
Explain the covalent bond by MOT? #

(i) MOT % §R N, &1 5iY W, TriahTa Wehfer e Fefered sht THesy|
Explain the bond order, magnetic properties and stability of N,by MO.T.?

_(m)auerraléﬁwﬁ%maﬁﬁaﬁwml

Write the factor affecting the bond length.
AYEI/OR
Wﬁmﬁ%n XeF ﬁvﬁaﬁmﬁwawmﬁfaﬁm

ST | Who is C'Ll]ed hybridization. Explain the hybriligzation and
structure of XeF,.

V.S.EP.R. FHE'FH F1 9T | Explain the V.S.E.P. R Theory.

U({ Lo 2 i aﬁlﬂ A ﬁTﬁE’Q | Write the resonatic stracture of Lo;‘ .
30. (i) fr=fafaa sihufeean =t how TamafTs aris <ifsa-
Give ony chemical equation of following reaction :
(A) ﬂiﬁl st ( Wurtz Reaction) ~
(B) Wwiea e ARHA (Fridal carft reaction) ©
(C) =i %I'gﬁ YT Gy ( Colbe electrolytic system) ~ .
(ii) S8 9re i1 (How to get)-_-
(A) Teltes ¥ a9 ( Ethylene to Benzene) —
(B) Fﬁ'ﬁ?—z 3@ | 99-1-37 (Propan-2-ol to Prop-1-ene)
ALAT/OR
(i) (A) @ (B) ferf@y [ Write (A) and (B)]-

- . ROOR
N CH. - CH - CH. —Kor_ y ROCK
(i) CH;-CH 'i~ : ( )+HB' (B)

Br
35’)3 B\)

.\ 3CH=CH — (4
(i) 3CH =C 4 )'S'zm!igh!

(iii) CH, —(‘H — (] —ROH_, (4)
(ii) CH, ﬁwmﬁnm fef@u | Write the structure of CH,

(30]





